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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. Define the term ‘labour’ and write the concept of

productivity and differences between producer and
productivity.

‘G W Bl OURMING BIY qAT Scraehdl Dl
AR B WL oA §Y Iedadh U Scaradd H 4

I |

2. What do you understand by Labour Welfare ? Discuss
the characteristics of labour welfare and role of labour
welfare officer.

S BT ¥ MY R TES 2 P S hodT B
faRIyarell 1 W $Rd U HM bedlvl ARHRI B

A ferfey |

3. Write the structure and functions of Labour Welfare
Administration and State Govt. Labour Administration
Deptt.

SH Bl YR U4 50 WRAR 5 Y a9
@ WA UG Bl W YD SMfery |

4. What do you mean by the term Automation ? Discuss
the positive and negative impacts of Automation.
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (79 ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type

qre

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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Define the term Industrial Health and discuss the
theory of Industrial Health.

AN Ry @I URWING SITU dom shenfie
WRed @ RIg & ARl IR |

Describe the system of preventing the occupational
diseases and its treatment in Industrial sector.

ANl &7 d AEERe dEHIRAT @ AhA™ TG
SUIR RIS TR YhTeT Slfery |

Discuss the meaning, objective and theory of salary
and wages.

Aoyl U 9aq B URMING BINY, 39 ILWI Td
RIGT=l @l SRET DITT |

Examine the law available for employee profit/benefit
and indicated provisions for the same.

HHAING] & M 8] SUA bRl Ud §H eI
IR FT IRIETTT HITTY |
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Define social security and discuss the scope of social
security in Indian industries.

IS GRETT bl URHINT HITY T AR el
W I R @ &3l W) YTy STty |

Write the meaning, objective and importance of labour
legislation in India.

RA H 9 B @ 3, St Ud 39D HEdl W
YTl STfefy |

Explain the meaning of Health, Safety, Welfare and
Adult worker according to the Factories Act, 1948.
BRYM ARIH, 1048 & AR WReF, e,
GV U4 qIRE SHd B RAINT BT |

Discuss the provisions discussed in Payment of Wages
Act, 1936.

QY YA SARTH, 1936 H AT el W
YTl STfefy |

Section-C / YUvs—1T
(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type

e

questions of one (01) mark each. All the questions
of this Section are compulsory.
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Indicate whether the following statements are True or False :

3 ifsre o f=feiRad deM v & a1 oy

1.

The all recommendations of Labour Commission are
implemented in Indian Industries. (True/False)
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There is no association between production and
producer. (True/False)

IAIEH U4 IAGH H DIs T Tal & | (A / 3RT)

Labour welfare is statutory requirement of worker.

(True/False)
ST ST NG HY F D! 3G WaHd 2 |

(W / 1)
Salary is paid to the people to perform better.

(True/False)
GRTH T I 3T B B 3 Herdl & |

(W / 1)
Wage is the remuneration paid for service of workers.

(True/False)
AR B A AHST BT SA@! FdT/ PR T 950l
fem S 2 | (T / 3rc)
Trade wunion bargaining has no role in wage
determination. (True/False)
ST Y iedron o e o) e # 78 2

GRVARR)
Cost of living has role in wage determination.

(True/False)
EA-HET & Gd DI AT Aorgyl MR H 7 |

GRVAES)
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8. Compensation on accident of worker is paid by Gowt.

(True/False)
ST B Fee H afifd TR gRT Bl Sl & |
(Fg / 31c)
9. Health Security is the responsibility of the Factory to
do the needful for workers. (True/False)
S & TR JReNT DI (TR HRE B © |
(W / 31c)
10. Minimum Payment of Wages Act was introduced in
year 1950. (True/False)
SYATH A A AR 1950 H W] 83T |
GRVASR)
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